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Mass - 1 

1. 17 kg 659 g is equal to ____________ grams. 

a) 16759 g     b) 17659 g 

c) 17695 g     d) None of these 

2. 65009 g is equal to ________ kg ________ g. 

a) 65 kg 900 g     b) 65 kg 90 g 

c) 65 kg 9 g     d) None of these 

3. 15575 g + 21437 g + 34238 g = ________ kg ________ g 

a)  71 kg 250 g     b) 72 kg 250 g 

c) 70 kg 250 g     d) None of these 

4. 145 kg 415 g + 1234 kg 235 g + 2237 kg 8 g = ____________ grams 

a) 3616658 g     b) 3616685 g 

c) 3616568 g     d) None of these 

5. 215 kg 280 g + 275 kg + 12 kg 90 g = ________ kg ________ g 

a)  502 kg 730 g     b) 502 kg 370 g 

c) 502 kg 37 g     d) None of these 

6. Subtract 24560 g from 35 kg 350 g  

a) 11 kg 970 g     b) 10 kg 790 g 

c) 10 kg 79 g     d) None of these 

7. What should be add to 54 kg 560 g to get 75 kg 250 g? 

a) 20 kg 960 g      b) 21 kg 690 g 

c) 20 kg 690 g     d) None of these 

8. Bob weighs 58 kg 560 g and John weighs 72 kg 750 g. What is the total weight of Bob and 

John? 

a) 113 kg 310 g     b) 131 kg 130 g 

c) 131 kg 310 g     d) None of these 
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9. 4 packets of rice weighs 157 kg. 1st bag weighs 27 kg 657 g, 2nd bag weighs 32 kg 250 g and 3rd 

bag weighs 30 kg 35 g. what is the weight of 4th bag? 

a) 57 kg 580 g     b) 67 kg 058 g 

c) 76 kg 580 g     d) None of these 

10. 15 box of same size weighs 35 kg 745 g. what is the weight of 25 such boxes? 

 a) 59 kg 575 g     b) 95 kg 755 g 

c) 59575 g     d) Both A and C 

11. A shop keeper has 26 boxes of apple each box weighing 23 kg 235 g. He has sold 525 kg of 

apples from it, then how much apple remained with him? 

a)  69 kg 110 g     b) 79 kg 101 g 

c) 79 kg 110 g     d) None of these 

12. Tom weighs twice of Maria’s weight. Maria weighs 42 kg 457 g. What is the total weight of 

Tom and Maria? 

a)  127 kg 317 g      b)  127 kg 371 g 

c) 127371 g     d) Both B and C 

13. Bob has 7 kg of milk powder and he put them into 250 g packets. How many packets he will 

need? 

a) 27      b) 28 

c) 25      d) None of these 

14. The weight of an apple is 250 g. How many apples will weigh 50 kg 750 g. 

a) 200      b) 201 

c) 202      d)  203 

15. 12 books weighs 25 kg 416 g. What is the weight of 10 such books.  

a) 21 kg 280 g     b) 20 kg 180 g 

c) 21 kg 180 g     d) None of these    

  

 

 

 



LetsPlayMaths.com 

Copyright © 2019 LetsPlayMaths.com. All Rights Reserved. 

 

 

 

 


